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PHILOSOPHY
( Major )

Paper : 6.3
( Contemporary Western Philosophy )
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1%7=7
foicre®t were francared Ted fa :
(a) Belief in the primacy of is a

characteristic feature of existentialism.
( Fill in the blank )

g e et Seama 9o CafE |
( 1et 272 =@ 41 )
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(2)

(b) “‘Man is condemned to be free.”” Name
the philosopher who is associated with
this statement.

‘AR TR DA A @3 Tfete e
iow wHEPeRe i foran

(c) Name the existentialist philosopher who is
associated with the concept ‘leap of faith’.

‘pE Te’ GREIR (Tt Give  Sieeam!
e = for |

(d) Which of the following sentences is true?
Eq (FIECET I TS ?

(i) Existentialism is an emphasis on
abstract thinking.

g [é fogm eoqe weg oM
T |

(ii) Existentialism is related to logical
positivism.

ST SR 2orrrE Gie e |

(iii) Existentialism does not emphasize
rationality.

wﬁwiﬁmem@@wmﬂml
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(3)

(e) Name the second stage of existential
transformation according to Kierkegaard.

oo Te WM Siegd fRedTR Bem
FICoME AN 1201 |

(ff  With which of the following word the
term ‘intentionality’ is associated?

G (PIICH! *9 71918 “TFIRI 19001 T ?
(i) Body
Q1
(ii) God
ECE

(iii) Consciousness
5ol
(iv) Religion
f
( Choose the correct answer )
( % Teqchl Aife Tlered )
(g) Who among the following is the author of
the book Being and Nothingness?
weTe T P91 e fYeqe (FReEiel Being
and Nothingness 5%9 2[(°Me ?
(i) Kierkegaard
EICI
(ii) Neitzsche
T
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(4)

(iii) Hegel
205

(iv) J. P. Sartre
. 3. g

( Choose the correct answer )

( wm Teach! qife Tferear )

2. Answer the following in brief : 2x4=8
el frarcared oy Ted f

(a) In what sense phenomenology regards
philosophy as a ‘rigorous science’?

#@Ifsqn & wfe v 3 FooE [eEm’ 9

Hfee e ?

(b) What does Neitzsche’s nihilism mean?
Terwa e & @ 2

{c) Name two atheistic existentialist
philosophers.
oIl e Sfegan v am By |
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(S)

(d) State any two obstacles that obstruct the
exercise of man’s freedom according to
Sartre.

@9 IO JET FETOR Shee 14 Gl
i o1 o1 adfeTss Sray 54 |

3. Answer/Write short notes on any three of the
following : 5x3=15

et fral & (e fofibR Ty / wifee Gt fora

(a) Write a note on Phenomenological
reduction.

seifea ufaear [ ot Gt fo=n

(b) Neitzsche’s concept of ‘will to power’

TNermE “FIoR 4fS TpR'T 48

(c) Explain existentialists’ view that ‘truth is

subjective’.
st D I wfee T SfFgam 1=eND!
4 4 |

(d) Sartre’s concept of freedom

Qdq FATOR 4=l
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(6)

(e) Explain the statement that existentialism is
a ‘movement of protest’.
REgaw 9F ‘ARG ST —SAEE 27
<4l

4. Answer any three of the following : 10x3=30

weTe [ [ e fofbm e o .

(a) What is existentialism? Distinguish between
Theistic and Atheistic existentialism. 2+8=10

SiEggam 2 Sy o Femam sfeema
rens #12f) femeie <4 |

(b) Discuss after Kierkegaard the three stages
of human existence.

MG Iro T Sfega foR6T B9 SigEmwa
w4 |

(c) Explain Nietzsche’s concept of Superman.

M SfoAmEs Q=S T 47 |

(d) ‘‘Existence precedes essence.” Explain
and examine the statement.

“Hfgg AETER EEEICTN I kerar B 1 i o
[ F4 |
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(7)

(e) Explain phenomenology as a trend of the
contemporary Western Philosophy.

e “role; weieE «ft Sered qr@n 2Ee
el F=oc qnT 4l |

(f) Discuss  general  characteristics  of

existentialism.

AGGAMA TAE CAREFTR SCEAD] 1 |

* & &
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